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THIRD SEMESTER
Part 111 {A) — Another Language - Life Skills Courses

ANALYTICAL SKILLS
{2020 Regulation)
Time : 2 hours Maximum * 50 marks

Answer any TWENTY FIVE questions.
T A6 ot ([Shen Siredines grabod.
(Marks - 25 x 2 marks = 50 marks)

Complate the following series:

1. 3, 15,76, 876, 7 _
(a) 425 (b) 525
Ag) 1875 (dy 1625

2. 9,27,31,155, 161, 1127, _? _
(a) 1130 by 1135
© 1145 (dy 1150

4. 18800+470+2= _ 7 k

~ 2 (k) 4
(e) 4 d &
B A gl gl -1
ki g Wy O g M »
" 84 : ,ﬂ!ﬂ/lﬂlﬁ
{c) &6 {dy 88

5,. E+E+i+é= ?
4 4 5 B

(a)

B | e C |

(d}

| =

(c)
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23 4 B
: £ —,—and =1
&  What is the difference hetween the biggest and the smallest {raction AMONK 2. T p 0
&
23 4 5 D87
S5 Sofaing = prmed’ odlg, od 27y me
4 W=
g ® 12
1 1
F BRE+G=3=
(a) 35 by 36 |
Ao 37 @ 38
.;’. 4500 x = 3,375, then the walue of x is
4500 % x = 3,375 @audS x deod JoBbT
B 1
‘/’['ﬂ“' 1 (k) 3
5 4
(c) i {d) 3
i_,,::#f'* Find the L.C.M of 16, 24, 36 and 54
16, 24, 36 SoBcin 54 & Lm0, E08%08. .
{a) 432 by 430
(c) 434 ,uli’ 436
" Find the L.C.M. of 12, 15, 20 and 27
12, 15, 20 208cin 27 & 5210, S8 0.
(a) 540 /m/&zu
(c) 630 (d)y 545
§

The H.C.F. of 3556 and 3444 is g

3556 $uBain 3444 & K.Amgr E087,08. 1.5

(a) 23 24

(b)
(€) 28 )ﬁf’ 28
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A2 The G.OC.D of 1.08, 0.38 and 0.5 in
1.08, 0.36 fubain 0.9 & ALowgr Jo87

W 0.18 /m" 0.2

[ 0.16 () 024
w AeFy 1 | |
fa) O:U ) O;V { f
© O0;T dy O;W .
pu Ai.lr_sxiru _?3
T @ ®) JU
() QJ ) Ud
5. J2Z, K4X, Hi6R, M22P, 7
() Li118

(a) I11T

{8 L12T /m/ L1IT

24,9B6C13D 2 .

I::;:ra” LA /ﬁf/m

(e} Vi2 (d 19
What was the day of the week of 15 August, 19477 _ =
(a) Thursday __;w*"' Friday -
(c) Saturday (d) Tuesday
15 ety 1947 3 Tod” 0 B'er? by
(a) fobxardo b)) dErdo B &
(c) wardo (d) SooNtrlo

? a

//3.- 'Ihda}rm'li'-"a:lueaiuj After 96 days, ltmlliha o

Saturday =
I[c} Smﬁa:-' _,;dr"" Monday '
Be B i SadS* 96 5lero B4 D odin?
(a) WETvo (b) #2rdo
(€) o8> (d) @0
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19, Find the angle between the minute hand and the hour hand

Sehoaio 325 sawiigp Bt i il §rdoos?

1® B
: 1 ey =
(a) 4'?2 4 ; () 4 5
1 LW 18
@ 465 a4 @ 465

2 How many times in a day, are the hands of a clock at right angie
1 Ber® KAGE0S'S Auien 27y oy o Fowdad’ dowron?

fa) 22 4@( 21 1

£ 44 (d) 48

41 Find the average of all prime numbers between 30 and 50
30 BBt 50 o Aagy Ay sy (S Hoae STHO (i o B08T,08.

-
w308 ) 389 /

(c) 396 (d) 386

22 Find the average of first 20 multiples of 77
7 @0k, oot 20 Fodlers S0 S8 ,08,

(a) _?3.5- b TLG

= ¥
Ael 734 (d) 733

23" Tf A:B=8:15, B:C=5:8 and C;D=4:5,then A: D isequalto
A:B=8:16, B:C=5:8 Sobdin C:D=4:5 wausS A:D=_%

¥
{a) 2T by 4:15 - i
: e
B:15 @ 15:4 =
ABC. - -
of WA B:C=2:3:4 then —:i=:— ual 7 g
T i ’},
A:B1C=2:3:4Hﬁlﬁ-‘i.£.£= ?
B C A
ey T4:9:16 ) 8:9:12
fe) 8:9:16 id) 8:9:24

of a tlock when the time is 3.25
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,-’EE" If {x Y= 2:1, then |[J." —,'-'21] {

(x* + ¥} is equal to

(x:¥)=2:1 sauzs* [Ij--_'l.'!};{.j.'-" +}F:| m

(a) 3:5

.r“l.'f:"]'. 1:3

by 6:3
dy 3:1

26. Ifﬂ.’a‘ﬁ::::!r;ﬂ_.men the value of x is  ?

0.75:2:5:8 monds & S0 o)

(a) 112 ) L20
/{e‘rrl,.ﬂﬁ @ 130
7 w8.b g g avbie. L
/2 ] 33~ then iBequalto _7
a b ¢ a+b+e V-l
—=—=— sonss = 7
g 4 7 ¢ E
@) 7 o b 2
rals |

R d -

/257' If 15% of x =20% of , then x: y is equal to

15% of x = 20% of y @o0sS® x5 =

Aa) 3:4 (B) 4:3

fc) 17:16 () 16:17

/ﬂ./ A eyelist covers a distance of 760 m in 2 min 30 seconds. What is the speed in km/'hr of the
evelist?
wd pEOG 750 do &rdo 2 e 30 BET 2%, w62 W0 2. /Hons" Job?

- 2 * i ;
fa) 18 km/hr ) 20 km/hr i b

ie) 22 km/hr @ 10 km/hr
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30, What is the speeds of maximum of the following train upeed?

o8 6" 2 Beo I HBHHL? .
@ 25 mlsec g () 1600 mimin <
- -
() 90 km/hr (d) 50 km/hr Lt
4 A HJh-' o= 4 .9
/ : . ? WA I- 1L ’
jﬂl. 26% of 450 + 45% of 280 = . E‘LD;.:' 3 o =
(a) 250 —_— b 52 -i .
(©) 254 e P @ 256 S i
'/t - ;-.._.- fi- - H
32, 2% of 25="2.125, what ia the value of x= _! =y \
% of 25 = 2125 wansS* ¥ Deaxd Jos? A ‘l
}
(a) 6.5 25 "
(€ 85 @ 80
- .
fﬂ:'ﬂf If C.P = 2 56.25, gain = 20%, then find 3.P. = _ 7 ; "'"‘"H"'??;qg—
C.P =t 56.25, erdio = 20% moudd’ 8.7, Jeod Jos?
- SRERN A, L
/m/; 67,50 ) 67 ve - N
A 2
© 6125 @ *er7s s Ug-
b =
. If8.P =% 40.60, Gain =20%, then fnd CP.=_7____ 2
S.P = ¢ 40.60, erio = 20%, oS’ CP. deud Jo? TE
LA
(a) 235 by ®30 by
il
38 e
(c) T34 _AdY =

35, A man buys a cycle for € 1,400 and sells it at a loas of 15% what is the selling price (S5.P) of

' the cycleis __?
280 1,400 4 226 B, 15% S0l . 236§ 46 (SP) Job?
(@) wl090 (b) 1160

/pr/r 1,190 @ 1200
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Study the following table carefully and the questions gven bnlrw
2of e Do 364002 ol Dot mrwe g

flnulﬁf_"ﬁlll’ll’l al Iﬂﬂ ﬂlllll.‘-'["l‘iln- .llrlﬂ'l"'li o t]“q. mm‘hﬂ ﬂhllllm"ll h-".r tham F'IIT!I!'H nnil
Chemistey n an examination,

2t S056" POTPFAL Nbaiy GabTiwed’ 100 ol TR SH0ts Stiym (o
S’ amym. SE 368002 o0 S0 B0l P e Eraiing.

H;irl-.s oLt l:l-f:jEI' .m nnd. .;'l;ha,wn |30 ﬁmi ahu\'u 20 Hn:tl nbove | 10 and above I'] and above
ree | 50| 40 SBany | 30JuBato | 20 20din 10 2oBain | 0 Sebain
| aotht) Juod | eod uod mofhE) Niod | mobE Lol | woBty Juod
| Subpect
SRR -
| Physics 1
g a2 B0 92 e |

| Chemistry |
e ?Ei:: 4 21 B6 &1 100
Pt !
| Average . a5 . o0
538 | T CU

,-dff What is the number of gtudents scoring less than 40% marka in aggregate 18

oo Bodl 40% Kokl BED 2,5 Sayd 7 Hog?
(m) 13 (b) 19
20 dy 27

/li/ If atleast 60% marks in Physics are required for pursuing higher studies in Physics, how

43,

many students will be eligible to puraue higher studies in Physica,

Fosriing’ p ispos’ ofpn, i 60% & 5Pges’ TId. J08 2088 & wis pood:
(a) 27 (b) 32

fc) 34 /Qﬂ"":ll

What is the difference between number of students passed with 30 as cut off marks in
Chemistry and those passed with 30 as cut off marks in aggregate

90 £S5 Sy, EnaiyIEEAne" Say0 08 30 i5-wh artoyes T Soth Sayb 68, e
Sy

(a) 3 /va/ﬂ

) 5 fdy @
{3033L.5320)



Z 44 What the percentage of the number of students getting atleast 60% of marks in Chemistey
' over those getting atleast 40% of marks in aggregate is approximately

SR0 60% Srdiye sarabargand’ soys T Soay, Shio 40% eyodd’ dhndydher

Arde S0y G Josaeay
y@/—.ﬂl% , (b 27% = Ca
3 [
(© 2a% W) 31% b

#6. If it is known that atleast 23 students were eligible for a symposium on Chemistry the
{ minimum qualifying marks in chamistry for eligibility to symposium. Would lie in the range
SRt nG® BoahaSi o 23 08 e Soddod db 5h e sgs Wi

Brtfe o e’ pianosas?

g 40-50 : ®) 30-40
(€ 20-30 i) Below 20
(20 So&d 65,5)

The following line-graph gives the ratio of the amounts of imports by a company m_me
amount of exports from that company over the period from 1995 to 2001, the questions given
below are based on this graph.

Ratio of value of imports to exports by a company over the years
1935 Hood 2001 360 & TeSBAE" 18 fobd bdvioe Jooel, Jtde Joerel fo

Ay Bi-rh Ardim. #ad agy e T  eriidho,
Bfbodue, Mot Jeude Sl edir Sl med’

i i i

T oo =k ok =k =k =k =k
WS = P La B

0.3 1 0.35

I ¥ 1 L] 1

Years 1095 1086 1897 1988 1998 2000 2001
(Soue)
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46, In how many of the given years were the exports More than the imports
Soton, B Soff 20D &% sosfre Jo
) 2

(a) 1
(d) 4

i 3

47. The imports wers m

inimum proportionate to the exports of the company in the year

Ssost 2t Srtisue) SO dy o
(a) _A%95 (k) 1996
1997 (d) 2000

in 1996 was T 272 crores, the exporta from the company in

_ 48, 1f the importa of the company

1996 was
1996 Sob Brueoes € 272 Sy wond, 1996 & Sobh HbSHee:
{a) ¥ 370 crores by ¥ 320 crores

~T 2Th crores

© ¢ 280 crorea _,Eﬂ}f

49, What was the percentage increase in imports from 1997 to 1998

1997 So0d 1998 S8 Arhduve Trdylie TN
' b) 56
ne of these
(md 200 53p)

(a) 72
(c) 28

&0, If the imports in 1998 was % 950 crores and the total exports in the years 1998 and 1999
together was ¥ 500 crores, then the imports in 1999 wase

{a) % 250 crores _ (b} % 300 crores

{c} ¢ 3567 crores (dy 420 crores

1998 &' Bbdodoe T 250 S%, 1998, 1999 & ¥03 Jnudin JfbDotoes T 500 By esonnd
1999 &° Brodsoen: :

(a) €260 Ly VY] (b) %300 &%

/“7/ €357 S0 @ 4205y
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